FEomHESE S —FTEFOE

20248 A2H (%)
mEhor)—o57
Bz =EF4 ifT4&  [OUT| IN | TOTAL
1AW =% FEH 34 37 A
2F/E A fintE™ 36 36 72
3HE FE pii ) 38 36 74
4 B R FEM 40 35 75
mH FA grA™H 38 37 75
6 A RiE /NS 43 33 76
A EE ERM 41 35 76
SH# EH & 38 38 76
fRIR fi— HiET 38 38 76
10 &R NER] el 41 36 77
A = EiEmh 41 36 77
BAR BX =F:di] 39 38 77
=48 FH finta™h 38 39 77
14 E[E X FEM 42 36 78
L% @&k R HEH 40 38 78
FH EA MR 40 38 78
=28 —EE WmEEm 39 39 78
BA B fata™ 38 40 78
Ty FE FHWmH 38 40 78
20 AJII EF et 42 37 79
21 |l #F ARM 40 39 79
21 BER ST MET 40 39 79
23 F1H #ER ARM 44 36 80
HEF FN# FEH 42 38 80
FR B FEM 41 39 80
4 R BT 41 39 80
271 2R Fh fatE™ 43 38 81
& BhsE FEH 42 39 81
ING £3h WgAH 42 39 81
B R RAES 41 40 81
3 Bx IE ™ 41 40 81
EE —= ARM 41 40 81
&t HEBA finta™h 40 41 81
A BH= FrE™T 40 M 81
RiI #FH&E =Kl 39 42 81
36BELE H— LN =N 42 40 82
BHF Bk et 4 M 82
Tk IEfE 3= 4531 40 42 82
Al =4 et 39 43 82

=BE =il i S o ] 36 46 82
41 ZH E# kBRFh 45 38 83

B IEE LN =N ] 44 39 83
2k W= I\ 42 4 83
=l & i 42 M 83
Z2E B REEM 42 4 83
INE TR e R e o] 41 42 83
xR & I\ 41 42 83
Fik B— Ml 40 43 83
49 2K BR izhil 47 37 84
FER B— AT 42 42 84
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Bz =EF4 ifT4&  [OUT| IN | TOTAL
M EA NS 42 42 84
52 ER% E# kg™ 4 M 85
Rk RE FEM 43 42 85
54 HIE EA L AR 47 40 87
FE IEA i 43 44 87
#BE K& SHET 42 45 87
e Bz ¥ m 42 45 87
58 ¥F B kg™ 46 42 88
BT X&E =317 45 43 88
He JIE— et 44 44 88
¥ EE izl 44 44 88
AHE =8k HBRFH 40 48 88
63 AH 1E— I\ 49 40 89
B X&k FEH 46 43 89
Ml & FEH 40 49 89
66 ILA Fth FrE™T 49 M 90
FR &M EN#aHh 44 46 90
XiF = HARM 44 46 90
69 = EX NS ] 47 44 91
Bl A& Ml 46 45 91
WE 3 ARM 46 45 91
72 HE {EF INTFHKH 50 42 92
ik A% s am 47 45 92
R’ Je— wam 46 46 92
k2K BHEEB ®Wh 46 46 92
76 &1 & ES 2 o] 47 46 93
77 EH BE ARM 44 51 95
78 A& IEFI HRM 52 45 97
79 X% B— Rl 51 47 98
80 =2 KIT FEH 50 50 100
RE FL A FEH
RE KEE fti— fatE™
REWE B FEH

RiE ®KEE MA NS
RIE WA B HtRFH
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